NasMooO~ Structure:
A2B2C7_0C88_64 _ef_df 3f2¢-001

This structure originally had the label A2B2C7_0C88_64_ef _df _3f2g. Calls to that address will be redirected here.

Cite this page as: D. Hicks, M. J. Mehl, M. Esters, C. Oses, O. Levy, G. L. W. Hart, C. Toher, and S. Curtarolo, The AFLOW Library of
Crrystallographic Prototypes: Part 3, Comput. Mater. Sci. 199, 110450 (2021), doi: 10.1016/j.commatsci.2021.110450.

https://aflow.org/p/0H5D

https://aflow.org/p/A2B2C7_0C88_64_ef df_3{2g-001

Prototype MoyNayOr

AFLOW prototype label A2B2C7_0C88_64 _ef_df_3f2g-001
ICSD 24041

Pearson symbol oC88

Space group number 64

Space group symbol Cmece

AFLOW prototype command aflow --proto=A2B2C7_oC88_64_ef_df_3f2g-001
—~params=a, b/a» c/a, T1,Y2,Y3,23,Y4, 24, Y5, 25, Y6, 26, Y7, 27, L8, Y8, 28, L9, Y9, 29

Other compounds with this structure
N32W207

e (Lindqvist, 1950) gives data for the prototype compound, NasMosO7, but the ICSD entry lists the compound ad
NayW507. Otherwise the data matches exactly with the prototype, so we use that ICSD entry here.
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Base-centered Orthorhombic primitive vectors

a3 = %afc — %by
as = %afc + %by
ag — cZ
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = r1a; + 21 a = axr, X (8d) Nal
B2 = — (331 — %) a; — (3?1 — *) as + = —a (331 — %) X + %CZ (Sd) Na I
383
B; = —ria; — T as = —ar1 X (8d) Na I
By, = (ml—i—%) al—l—(xl—i—l) 32—‘1-%83 = a(xl—i—%) fc—i—%ci (8d) Nal
Bs = —(pp—p)ai+(peti)at = TaX+bpy + ez (8e) Mo I
a3
Bg = (yg + i) (yg i) ag—i—%ag = iai—bygy—l— %02 (8e) Mo I
By = (l/z + %) a; — (92 %) a + %as = %afc —bys ¥ + %ci (8e) Mo I
Bg = (yg — 7) 31 + ( 7) as + = %afc + by § + ici (8e) Mo I
1 33
By = —Yyzai +ysas + z3asg = bysy + cz3 Z (8f) Mo IT
Bio = (ys+35) a1 — (ys—3) ax + = 30X —bysy +c(z+3) 2 (8f) Mo I
(23 + 5)
B11 = —(y3—%) al—&-(yg,—l—%) as — = %af{—l—bygy—c(zg—%) Z (Sf) Mo II
(25— 3) as
Bi2 = yz3a; —ysaz — z3as = —bysy — cz3 % (8f) Mo II
Bis = —Ysar +ysas + z4a3 . bys ¥ +cz4 2 (8f) Na TI
Bis = (y4+%) a; — (y4—*) az + = %ai—by4y+c(Z4+%) Z <8f) Na II
(Z4 + %) as
Bis = —(mu—%)ai+(mti)a- = tak+byuy—c(zu—13)2 (8f) Na II
(24— 1) s
Big = Ysap —Ysaz — 2483 = —bys ¥ —cza 2 (8f) Na II
Biz = —ys a1+ ysaz + 25 ag = bys ¥ + cz5 2 (8f) Ol
Bis = (ys+3) a1 — (y5 — 3) a2 + = sa% —bys§+c(25+3) 2 (8f) Ol
(25 + 5)
By = *(%*%) a1+(y5+%) az — = % bys)’*c(%*l) z (8f) Ol
(25— 3) as
B2o = Ysa; — Ysaz — 25as = —bysy —czs5 2 (8f) 01
Bs: = —Y6 a1 + Y a2 + 26 a3 = by § + c26 Z (8f) oI
B22 = (yﬁ"’%) a; — (y6—*) as + = %af{—byﬁy—i—c(%—k%) Z (8f) O1II
(2’6 + 5)



Bas = —(vs—3)a+(ye+3)a— = 30X +bysy —c (26— 3) 2 (8f) on

(26— 3) as
Boy = Yg a1 — Yo Ay — 26 A3 = —bys ¥ —cz2 (8f) O1II
Bas = —yray +yraz + z7as = byr§ +czrz (8f) O I
Bas = (yr+3) a1 — (yr —3) a2 + = X —byr§+c(2r+3) 2 (8f) O I
1
(2'7 + 5) as
Bar = —(yr—3)ai+(yr+3)a- = saX+byry —c(zn—3) 2 (8f) O Il
(27— 3) as
Bos = yray — yras — 27 as = —byr ¥ —cz72 (8f) O III
B,y = (xs —ys) a1 + (xs + ys) az + = arsX +bys § +czz (16g) Oo1v
zZg as
Bso = (—zs+ys+3) a1 — = —a(rs—5) K—bysy +c(es+3) 2 (16g) O1v
($8+y8* %) az + (Zs+%) ag
By = —(ws+ys—3) ar + = —a(zs—5) X+bysy —c(z—3) 2 (16g) 01V
(o rus+d) o (o 1) g
B3, = (8 +ys) a1 + (vg —ys) az — = argX —bysy — czg 2 (16g) o1V
Zg ag
Bss = —(zs—ys)ar—(zst+ys)az— = —argX —bysy — czg 2 (16g) O1v
Zg as
B3, = (25 —1y8+%) a; + ) = a(rs+5) K+bysy —c(2s—3) 2 (16g) o
(s +ys+35) as — (25 — 5) a3
Bss = (zs+ys+ %) a1 + = a(rs+3) X—bysy+c(zs+3) 2 (16g) O1v
(s —ys +3) a2+ (25 + 3) a3
B3g = —(rs+ys)ar—(rs—ys)az+ = —arsX+bys ¥ + czs Z (16g) o1V
Zg as
Bs; = (xg — yg) a1 + (w9 + yo) ag + = argX +byo§ +czz (16g) oV
Z9 ag
Bss = (*$9+y9+%) a; — = *a(ngé)i*bygy+c(29+%) z (16g) oV
($9+y9* %) az + (29+%) ag
By = —(etm-Hm+ = —alw-}x+mi-cla-Hz () OV
(vt d) o (1) ag
B4 = (w9 +yo) a1 + (w9 — yo) az — = argX —byo§ —czo 2 (16g) oV
Zg as
Ba = —(zo—y) ar—(v9g+yg) az— = —argX —bygy —cz9 2 (16g) oV
Zg asg
By = (2o —yo+3) a1 + = a(rg+3) K+byey —c(20—3) 2 (16g) oV
($9+y9+%) az — (29—%) as
By = (zo +yo+3) a1 + = a(rg+3) X—byoy+c(z20+3) 2 (16g) oV
(w0 —yo+3) a2 + (20 + 3) a3
Ba = —(@o+wyo)ar— (20 —yo) a2+ = —argX +byg ¥ + cz9 2 (16g) oV
Zg asg
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